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<exception text="close block [bk45] request; already reserved by [21]" level="4" id="9999"/>

<exception text="21 in " level="262144" id="9999"/>

<sg id="sg45-1" state="0" aspect="0" manual="false" iid="VT"/>

<exception text="reject init block [bk45] because loco [21] is still in automode" level="4" id="9999"/>

<bk state="closed" 1d="bk45" acceptident="false" locid="21" fifoids="" masterid="" platform="" embeddedfbplus="false"
embeddedfbmin="false"/>

<exception text="variable [FP RG counter] cmd=[add] param=[1] new value=2" level="65536" 1d="9999"/>

<vr 1d="FP RG counter" group="Rangieren BHO" desc="Counter fir den Start des entsprechenden Fahrplans (z.B. counter = 3 =
Start FP_RG 03)" min="0" max="0" text="" value="2" generated="false" x="6" y="14"/>

<exception text="F2 F3 true" level="262144" i1d="9999"/>
<sg id="sg53-1" state="5" aspect="5" manual="false" 1iid="VT"/>
<lc id="21" shortid="" uid="0" sid="0" dir="true" addr="21" secaddr="0" V="40" placing="true" blockenterside="true"

blockenterid="bk53" modeevent="true" mode="wait" modereason="waitforevent" resumeauto="false" manual="false" shunting="false"
standalone="false" destblockid="bk53" blockid="bk45" fn="false" runtime="2467" mtime="0" rdate="1709567252" mint="0"

throttleid="" active="true" waittime="0" scidx="2" scheduleid="FP RG 01" tourid="" scheduleinithour="16" len="15" weight="0"
train="271" trainlen="39" trainweight="0" V realkmh="0" fifotop="false" image="3065-1 V60-1009 230x102.png" imagenr="0"
energypercentage="0" lookupschedule="false" pause="false" consist=""/>

<lc id="21" cmd="releasetrain" 1id="CS2" shortid="" uid="0" sid="0" dir="true" addr="21" secaddr="0" Vv="40" placing="true"

blockenterside="true" blockenterid="bk53" modeevent="false" mode="wait" modereason="waitforevent" resumeauto="false"
manual="false" shunting="false" standalone="false" destblockid="bk53" blockid="bk45" fn="false" runtime="2467" mtime="0"
rdate="1709567252" mint="0" throttleid="" active="true" waittime="0" scidx="2" scheduleid="FP RG 01" tourid=""
scheduleinithour="16" len="15" weight="0" train="" trainlen="0" trainweight="0" V_realkmh="0" fifotop="false"
image="3065-1 V60-1009 230x102.png" imagenr="0" energypercentage="0" lookupschedule="false" pause="false" consist=""/>

<exception text="FP RG 01[1] prev[-1] velocity is [] event=[enter] regularstop=1 in block[bk45]" level="65536" id="9999"/>
<exception text="21 Entkoppelt" level="262144" id="9999"/>
<sg 1id="sg45-2" state="red" aspect="0" manual="false" iid="VT"/>

<fn i1d="21" fnchanged="2" f2="true" group="1" 1id="CS2" shortid="" uid="0" sid="0" dir="true" addr="21" secaddr="0" v="40"
placing="true" blockenterside="true" blockenterid="bk53" modeevent="false" mode="wait" modereason="waitforevent"
resumeauto="false" manual="false" shunting="false" standalone="false" destblockid="bk53" blockid="bk45" fn="false"
runtime="2467" mtime="0" rdate="1709567252" mint="0" throttleid="" active="true" waittime="0" scidx="2" scheduleid="FP RG 01"
tourid="" scheduleinithour="16" len="15" weight="0" train="" trainlen="0" trainweight="0" V realkmh="0" fifotop="false"
image="3065-1 V60-1009 230x102.png" imagenr="0" energypercentage="0" lookupschedule="false" pause="false" consist=""/>

<fn i1id="21" fnchanged="3" f3="true" group="1" 1id="CS2" shortid="" uid="0" sid="0" dir="true" addr="21" secaddr="0" v="40"
placing="true" blockenterside="true" blockenterid="bk53" modeevent="false" mode="wait" modereason="waitforevent"
resumeauto="false" manual="false" shunting="false" standalone="false" destblockid="bk53" blockid="bk45" fn="false"
runtime="2467" mtime="0" rdate="1709567252" mint="0" throttleid="" active="true" waittime="0" scidx="2" scheduleid="FP RG 01"
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tourid="" scheduleinithour="16" len="15" weight="0" train="" trainlen="0" trainweight="0" V realkmh="0" fifotop="false"
image="3065-1 V60-1009 230x102.png" imagenr="0" energypercentage="0" lookupschedule="false" pause="false" consist=""/>

<lc V_maxkmh="0" dir="true" iid="CS2" id="21" shortid="" uid="0" sid="0" addr="21" secaddr="0" V="40" placing="true"
blockenterside="true" blockenterid="bk53" modeevent="false" mode="wait" modereason="waitforevent" resumeauto="false"
manual="false" shunting="false" standalone="false" destblockid="bk53" blockid="bk45" fn="false" runtime="2467" mtime="0"
rdate="1709567252" mint="0" throttleid="" active="true" waittime="0" scidx="2" scheduleid="FP RG 01" tourid=""
scheduleinithour="16" len="15" weight="0" train="" trainlen="0" trainweight="0" V_realkmh="0" fifotop="false"
image="3065-1 V60-1009 230x102.png" imagenr="0" energypercentage="0" lookupschedule="false" pause="false" consist=""/>

<exception text="Auto mode is set to [OFF]" level="131072" id="9999"/>

<auto cmd="off" controlcode="" slavecode="" actor="user" server="infw05330104"/>



